Units 10, 11

Algorithms
1.
Shortesty. = min (Shortesty; + Cost;c)
ie{Home,Shop,Bank,Bar,Store,Castle}
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0(1).0(log n) = ©(log(n* )} ©((log n)? | &V )= @[ n il ] @[ " J (1) = O(n +log n),O(n? )

m[i,i] = Oforalli

- two matrices at a time:

m[1,2]=04+0+8x5%x2=280

m[2,3]=04+0+5Xx2XxX6=60

m[3,4]=0+0+2Xx6Xx3 =36

- three matrices at a time:

m[1,3] = min{m[1,1] + m[2,3] + 8 X5 x 6,m[1,2] + m[3,3] + 8 X 2 X 6}

=min{0 +60+8x5%x6,80+0+8x2x6} = min{300,176} = 176

m[2,4] = min{m|[2,2] + m[3,4] + 5 X 2 X 3,m[2,3] + m[4,4] + 5 X 6 X 3}

=min{0+36+5%x2x360+0+5x%6Xx3} = min{66,150} = 66

- all matrices together:

m[1,4] = min{m[1,1] + m[2,4] + 8 X 5 X 3,m[1,2] + m[3,4] + 8 X 2 X 3,m[1,3]
+m[4,4] + 8 X 6 X 3}

=min{0 + 66 +8x5x%x3,80+36+8x2x%x3,176 + 0+ 8 X 6 x 3}

= min{186,164,320} = 164

Ans: (A1A,)(454,),164



